Extension of Radcliffe in Rajasthan is from :

(A) Hindumal Kot (Ganganagar) to Bakhasar (Barmer)
(B) Konagaon (Ganganagar) to Shahgarh (Jalore)

(C) Hindumal Kot (Ganganagar) to Shahgarh (Jalore)
(D) Konagaon (Ganganagar) to Bakhasar (Barmer)

Efoers @r &1 o ¥ forar ¥

(A) Rgwele (FR) & qrEmEy (ase) a6
(B) @lvmnEg (FIATR) | 9Tee (W) O
(C) Rgaaa (TmR) ¥ aETe (WdR) d@
(D) @WE (FR) § 9@ (989) q9%

The longitudinal extension of Rajasthan is :

(A) 69°30'E to 78°17'E (B) 69°30'E to 78°17' W

(C) 69°30'W to 78°17'E (D) 69°30' W to 78°17' W
TSI T 9T feramt & 45l

(A) 69°30' gat & 78°17' ydit (B) 69°30' qat & 78°17" ufeHy
(C) 69°30' ufyenly & 78°17' qdf (D) 69°30' uledy & 78°17' ufvEHr
What is height of Peak 'Ser' ?

(A) 1722 meter (B) 1597 meter

(C) 1380 meter (D) 1496 meter

WU ydq 9iel &l Sag w®av 7 |

(A) 1722 | - : (B) 1597 Hx L

(C) 1380 HreX (D) 1496 HrexX

Which one of the following districts of Rajasthan is not having the extension of Arawalli
hills ? :

(A) Sikar (B) Jhunjhunu

(C) Jalore (D) Alwar

o & 1 Bl & @ &9 9 1o T & orradtl werdy & fawr @ &7
(A) Hiwt (B) FHL

(C) R ' (D) e

'Phulwari ki Naal' is located at :

(A) Udaipur (B) Rajsamand

(C) Kota (D) Bundi

Gerart b T Red § :

(A) W H (B) wmEEg ¥

©) @ ¥ (D) &

Which one of the following is not correctly matched ?

(A) Ghaggar — Dead river (B) Bhorat — Plateau

(C) Nagpani — Arawalli pass (D) Ser — Arawalli peak
foiferd o & @l—d1 g™ HE gufaa Tef & 7

(A) TET — gd &l (B) ¥R - WK
(C) FFTAMN — ST & (D) AT - STl =y
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7 Which one of the following is not correctly matched
(A) Alwar — Sabi, Ruparel (B) Udaiyur - Banas, Berach
(C) Karauli — Jagar, Gambhiri (D) Dunuarpur — Banganga, Morel
Freiifed ¥ ¥ B-a g a8 gfed T8 E 7
(A) STaT — FEI, TURE (B) TEgyy - g™, 959
(©) &A@ — T, T (D) YT — a1, Hie
8 According to Koppenn's classification, which of the following stands for Dungarpur district ?
e it % ey X Frafafaa & & #m-w gmge fad @ fom 57
(A) Aw (B) BShw
(C) BWhw (D) Cwg
9 Which one of the following districts of Rajasthan has maximum annual rainfall variability ?
(A) Barmer (B) Jaipur
(C) Jaisalmer (D) Banswara
e § Rretiiad ¥ 4 feg R § aitfe aut & siferdan fawwar o ST @ 7
(A) dTRET (B) sHEYT
(C) TEEHT (D) @rgarET
10 Which one of the following type of soil is found in the maximum part ol Rajasthan ?
(A) Aridosols and Entisols (B) Aridosols and Alfisols
(C) Inceptisols : (D) . Vertisols and Alfisols
o % Fata® & g et & @ @ O gar o wnd § 7
(A) tfEEmE T aftedied (B) UREEE Td sehEed
(C) gTafeded (D) aeTEeE Ud e
11 According to Economic Review 2017-18, the total number of districts of Rajasthan selected
for National Horticulture Mission, is —
mﬂimaﬁrmzow-lsaimgmmwﬁﬁmamﬁm%ﬁmwﬁaﬁﬁfaﬁ
& -
(A) 22 ‘ (B) 23
(C) 24 (D) 25
12 Which of the following river is also known as 'Kamdhenu river' ?
(A) Banas (B) Chambal
(C) Kothari (D) Banganga
frfafag § & aF-91 990 WY T W Fwean ¢ 7
(A) T8 (B) THEd
(C) @rerd (D) amoEm
13 Which one of the following districts is the largest producer of sugarcane in Rajasthan ?
(A) Jodhpur (B) Ganganagar
(C) Bundi (D)  Sirohi
frefafad f@l & @ -9 Us T ¥ T $ §a9 G997 I@Ed § 7
(A) g (B) T
(C) & (D) fad
LAI-48] € 3 [ PT.O.
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14 Which one of the following is biological name of Rajasthani camel 7

(A) Camelus dromederius (B) Camelus bacterius
(C) Camelus desertius (D) Camelus europa
ORI T 1 Agfes a9 & -~
(A) i s B) ey RIS
(C) ¥iww dwféa (D) ied FUM
15 Growth with stability and self reliance was the objective of which plan 7
(A) Third Five Year Plan (B) Fourth Five Year Plan
(C) Fifth Five Year Plan (D) Sixth Five Year Plan
Rercar % w1 Ry X onefniar Rew diemT @ ded o1 ?
(A) FArE vgadia dre (B) =gd daad g
(C) vigdl daauid drer (D) ®wa dagdta ATl
16 'Som-Kamla-Amba' irrigation project is situated in :
(A) Bundi ‘ (B) Kota
(C) Dungarpur (D) Banswara
Hr—aer—arar R ufger Rad & -
(A) & (B) @leT ®
(C) YT d (D) digarst

17 Which of the following is source of water for Hanumangarh and Churu districts ?
(A) Kanwarsen lift Canal (B) Guru Jambheshwar lift Canal
(C) Choudhary Kumbharam lift Canal (D) Pokaran lift canal

frfefag & ¥ & sgEMTe 9 g% fal & g S @ °id g7

(A) FawEe fawe T8 (B) & sga fiwe 8¢
(C) <l FRm fawe e (D) i 9 EX
18  Which one of the following National highways links Ajmer to Bikaner in Rajasthan ?
(A) N.H. 89 (B) N.H.79
(C) N.H. 59 (D) N.H. 69
fomferfaa T T F A BA-H Th T § SRR & et § dear &7
(A) T TH. 89 (B) T TE. 79 '
(C) T w59 (D) T = 69
19  In which of the following mineral production, Rajasthan is number one in India 2
(A) Feldspar - (B) Lignite .
(C) Copper (D) Iron
ﬁqﬁaﬁgaﬁﬁmaﬁﬁ%mmﬁmﬁwwﬁvmww%?
(&) wEER B) fergz
(C) dian (D) e
[A1-48] €& 4 [PTO
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20  Which one of the following is the per cent share under reserved category to the total recorded
forest area of Rajasthan according to State of Forest Report 2017 ?
R % BIE Rré 2017 & sigam woram w0 % Gofge 9 a9 @1 Rretite § A Ge-
T wide ST AT I & st aar &7
(A) 38.11 (B) 55.64
(C) 6.25 (D) 4.84
21  Shergarh wildlife area is situated in which of the following districts ?
(A) Baran (B) Udaipur
(C) Jaipur (D) Bikaner
e 99 S & Frfafad ¥ @ feg fra o Rua &0
(A) ara  (B) wEEY
(€) wagT (D) e
22  The plant known as the 'Green Gold' of the tribes is :
(A) Salar (B) Dhokda
(C) Bamboo (D) Gular
feaiaal & B W' % AW | ST W 9rell 98 ¥
(A) EER (B) el
©) o (D) T
23 Ozone day is celebrated on :
(A) 16t September (B) 16t December
(C) 16 January . (D) 16 June
AN fea@ a=man o & - |
(A) 16 fqa=r =1 (B) 16 fewmt 1
(C) 16 FFal &I ; (D) 16 5[ &
24 Which one of the following is a reason of Blue Baby syndrome ?
(A) Nitrate ' (B) Mercury
(Cy Lead (D) Iron -
frfofag & § aM-91 U6 = 991 R o gwafaq §7
(A) TEZ (B) ura
(C) dmr (D) e
25 What is the percentage of area and population of Rajasthan affected by Thar desert ?
~(A) Area 50%, Population 50% (B) Area 61%, Population 40%
(C) Area 70%, Population 60% (D) Area 70%, Population 70%
T § O AeEd 4 wHifad eshd 9 saedn & wiaed feder & ?
(A) &% 50%, FHE@n 50% (B) &@=he 61%, SEEEET 40%
(C) &sme 70%, TTEET 60% (D) &eThd 70%, SEET 70%
LA1-48] €& 5 [ PT.O,
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Veer Satsai, Balvadvilas and Ramranjat were written by :

(A) Shyamaldas (B) Suryamal Misran

(C)  Gauri Shankar Heerachand Ojha (D) Jagdish Singh Gehlot
AT e, et ot Tt % e §

(A) R (B) gdwea faT

(€)Y siwt e aiem (D) e fif T

in district Bhilwara.

27 The site of Bagore is situated on the bank of river
(A) Luni (B) Banas
: (C) Kothari (D) Chambal
iR fiearer i @ T8 % Bis 1 Red ¥
(A) (B) 9119
(©) =R (D) T
28  Which Chauhan ruler got the Suhaveshvar Shiv Temple built in Menal ?
(A) Vigrahraj 1V (B) Apargangeya
(C) Prithviraj II (D) Vigrahraj III
N A geasan g wfex @ fmfu feg dem ame ¥ wtam ar?
(A) fawEas v (B) SO
(C) y@rT II (D) fawrewst 111
29  Which one of the following is a source of information about the history of Pratiharas of
Mandor ? .
(A) Sambholi inscription j (B) Ghatiyala inscription
(C) Bijapur inscription ' (D) Arthuna inscription
frifeiiad & § &1 TR % 9t & 3wm @ s Ty ¥ 7
(A) T orfherd - (B) ufemn sfwg
(C) gy afierg (D) ey sty
30 Which one of the following rulers did not establish matrimonial alliance with Akbar ?
(A) Bharmal of Amer (B) Rawal Har Rai of Jaisalmer
(C) Rao Surjan Hada of Ranthambore (D) Rao Kalyanmal of Bikaner
fe1 4 8 21 4 ames 3 srpat o Jaifed d9y g T 5 e
(A) ST % “TEHA (B) SHTHT & TEd T
(C) TUEwi % U9 g &1el (D) dIBFR & T Bearoa
31  The first floor of Hawamahal is known as :
(A) Ratan mandir (B) Prakash mandir
(C) Hawa mandir (D) Pratap mandir
TATHE 1 Ugell A T A a1 & ¢
(A) T HfR (B) webter wfex
(C) & HfeT (D) wam Wy
LAI-48] €& 6 [PTO.
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32

Which fort in Rajasthan is also known by the name of Dharadhargarh ?

(A) Bhatner fort (B) Gagron fort
(C) Ranthambore fort (D) Choumuhagarh
USRI < [ T8 &l 4rIEreTe & AW & 9 S S ¥ 7
(A) 9eAT & bt (B) Tmrer @t fepen
(C) oTesiR T fpe (D) ®rerTe
33  Where is Chand Bawadi situated ?
(A) Amer (B) Sikar
(C) Abhaneri (D) Tilwara
gic qrae! wel Ruq § 7
(A) ST (B) it
(C) I (D) fereramst
34 Which saint of Rajasthan and disciple of Ramanand renounced his state and joined his Guru
Mandali ?
(A) Dhannaji (B) Jambhoji
(C) Peepaji (D) Raidas
W%MW@TW%&M%WW&%WW&SW‘*W@ ?
(A) =1 W (B) <t Sy
(C) st (D) ©™
35 The "Than' of folk god Gogaji is usually found under which tree ?
(A)  Khejri (B) Peepal
(C) Bargad : (D) Neem
SlhEadl TS % YT qE: d U % e IR S ¥
{A) wsEl (B) e
€) =& (D)
36  For contribution to which Handicraft has Kudrat Singh been bestowed with the Padamshri
award ?
(A) Textile Printing - (B) Meenakari Art
(C) Moradabadi work on Brass (D) Blue Pottery
Fatd e il e swda ¥ ey & AU ugud 4 ewipd fem mr ¥ 2
(A) BUS %I BUR (B) W el
(C) didel 9¥ JUETErEl S (D) = wiEll
37 Muhammad Shah and Sahib Ram were famous painters of which School of Rajasthan
Painting ?
(A) Jaipur (B) Bundi
(C) Alwar (D) Udaipur
qewg 9T o7 @ifeaed frg Toral fesiden et & wRie fasrere &7
(A) wEgT . (B) @
(C) oHea (D) S&AYT
38  The compositions of Dadu and his disciples are mostly found in which dialect/language ?
(A) Mewati (B) Dhundhari
(C) Mewari (D) Marwari
arg R % Rredl @1 Tl aifuat fbg W # aig o § 7
(A) e (B) ot
(C) TarEy (D) HRER!
LA1-48] € 7 [ P.T.O.
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Match the correct pair :

(a)  Jasnathji (1) Revasa (Sikar)
(b) Sheetla Mata (2) Chaksu (Jaipur)
(c) Jambhoji (3) Mukam (Nokha)
(d) Jeen Mata (4) Katariasar (Bikaner)
el g geferg ifg
(a) STETEt (1) @ (did)
(b)  ofewT HraT (2) drHY (STAYY)
(c) sty (3) M (dran
(d) T Hrar (4)  warEmET (@HET)
(A) a4 b2 c3 d-l B) al b2 c3 d4
(C) a2 b-1 c4 (-3 (D) a3 b4 c1 d-2
40 In which area of Rajasthan is Gulabi Gangaur celebrated on Chaitra Shukla 5 ?
(A) Nathdwara (B) Udaipur
(C) Bundi (D) Jodhpur
T & B F & § 30 o 5 &1 et TR S e § 7
(A) TeETa (B) ST
©) @ (D) SirEgT
41 Which khayal was composed by Sant Peer Shah Ali and Tukangeer in Mewar 400 years
ago ? ; .
(A) Khayal Bharmali (B) Chand Neelgiri
(C) Turra-Kalangi Khayal (D) Meera Mangal
T 9T g o gETIT A 400 W Teq dars ¥ fhE @ @ o @y
(A) =@ WRHA! (B) dig A
(©) g et ww , (D) T @
42 Which one of the following temples of Rajasthan is rightly matched ?
(A)  Eklingji Temple - Mount Abu ~ (B) Surya Temple - Udaipur
(C) Dilwara Temple - Osian (D) Karni Mata Temple - Deshnok
e 7 9 - @ TR @ AR e g b7 |
(A) TwfeRTst Afe — Aeve B) ¥ #fex - Tqage
(C) <waret afey - aifai - (D) &l AW AfeR - g
43 Who was the Chief Minister of Ajmer at the time of its merger in Rajasthan ?
(A) Harvilas Sharda (B) Balkrishan Kaul
(C) Haribhau Upadhyay (D) Heeralal Shastri
T ¥ ot & faer & wvg 9l @ geasd @5 or?
(A) e e (B) e Hre
(C) &ftwrs suram (D) T e
44 Who amongst the following was one of the leaders of the Revolt of 1857 in Kota ?
(A) Ali Baig ‘ (B) Kushal Singh
(C) Jaidayal (D) Hiralal
frer & & @ @i 7 1857 % fage @ Jar ar?
(A) S & (B) Fumw fie
£C) wEEE . (D) &
LAI-48] €& 8 [ P.TO.
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45 In which of the following years did the Royal Commission on Opium visit Rajasthan ?
HEW 4 wefua Tad sdeE Fra 9 @ feg od § wowa emn an?
(A) 1816 (B) 1893
(C) 1856 (D) 1888
46 Begu Peasant Movement was led by whom ?
- (A) Ram Narain Chaudhary (B) Vijay Singh Pathik
(C) Motilal Patel (D) Hari Bhau Upadhyay
&) fpe eridie &1 g e feman 7
(A) T ST e (B) feora g ufas
(C) Hiddre g (D) & WrE SurA™
47 Who started the Bhagat Movement ?
' (A) Rajasthan Sewa Sangh (B) Bhogilal Pandya
(C) Bhurelal Baya (D) Guru Govind Giri
WA Hige fohged gy wrow T mar ¢
(A) T qar 99 (B) wrfierer gigen
(C) o™ &4 (D) T Ma= frd
48  Which state of the Matsya Union was ready for its merger with Uttar Pradesh based on the
mandate of the Public ?
(A) Bharatpur , "~ (B) Karauli
(C) Dholpur . - - ' (D) Alwar
meﬁ?—mmm%agqaﬁs WWWQ&ST%W&%WW%WW
qr 7
(A) @Y (B) e
(©) %ﬂag'{ | (D) &Y
49  Kali Bai, who was killed in May 1947 by the police while attempting to free her teacher,
belonged to which district ?
(A) Udaipur - (B) Dungarpur
(C) Banswara (D) Jaisalmer
a5 1947 &l HIl 915 AU FEAUD B Yo B & A Giwd B At @ g &
gz o foret @1 o 7
(A) TP .(B) ST
(C) aigarET (D) SEEHT
50  The first woman of RaJasthan who was arrested during the freedom movement in Rajasthan
was ?
(A) Nagendra Bala (B) Anjana Devi Chaudhary
(C) Ratan Shastri (D) Rama Devi Pandey
o™ # wesar SiEdd & A R B arell TSR @) gl wiear &1 o ?
' (A) i amr (B) ST q& ey
(C) @ s (D) A urE
LA1-48] & | _ 9 [ P.T.O.
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51 The most abundant RNA in animal cell is -

o ®if ¥ B RNA & wgeen &
(A) t-RNA (B) r-RNA
(C) mi-RNA (D) m-RNA

52 In Mendel's experiments, the dihybrid phenotypic ratio was -
(A) 9 (Round, Green) : 3 (Round, Yellow) : 3 (Wrinkled, Yellow) :
(B) 9 (Round, Yellow) : 3 (Round, Green) : 3 (Wrinkled, Yellow) :
(C) 9 (Wrinkled, Yellow) : 3 (Round, Green) : 3 (Round, Yellow) :
(D) 9 (Wrinkled, Green) : 3 (Round, Yellow) : 3 (Wrinkled, Yellow) :
ded & warT ® faget devwrEy ey on -
(A) 9 (i, B : 3 (@, 99 ;3 (glew, 9 ;1 (g iR, )
B) 9@, 9@ ;3 (e, 7Y : 3 (gw, 9W) ;1 @GR, ')
(©) 9 (gler, 9@ : 3 (i, 83 : 3 (0w, 9 ¢ 1 (FTER, ')
D) 9 @RR, &) : 3 (0w, d) : 3 (gl d@) : 1 (@ @@, 8)

1 (Wrinkled, Green)
1 (Wrinkled, Green)
1 (Wrinkled, Green)

1 (Round, Green)

53 Match the Syndrome in column - I with Karyotype in column - II and select the answe
which is not correct :

Column - I Column - I1 "/
(A) Edward's Syndrome - Trisomy 18
(B) Patau's Syndrome - Trisomy 13
(C) Turner's Syndrome - Trisomy 21
(D) Klinefelter's Syndrome - XXY

w1 A G g @ w1l 7 3 HREieRT 8 A9 B g0 ST &l 99q i o a6l
T T .

Y - 1 B o
(A) wEaEw M ~ ZEEE 18
(B) v2rs; fagm — ZEEHT 13
(C) =X fagm ~ ZIEEmr 21
(D) e R - XXY
54  The animals of which group are homeothermic ?
(A) Whale, Pigeon, Bat (B) Crocodile, Alligator, Bat
(C) Whale, Alligator, Pigeon (D)  Hippocampus, Bat, Alligator
frr o @M |1 @E a9ardr wifort @ & 7
(A) R, YA, TGS (B) widieEd, Uefier, awee
(C) =, TeiHIeR, HYAT (D) fedrbmrg, wwmEs, ddiet
LAI-48] & 10 [ PT.O.
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Match List-I with names of Phylum with List-II with structures and select the correct
answer :

List-1 List-11
(a) Porifera (i) Flame cells
(b) Platyhelminthes (ii) Choanocytes
(¢) Nemathelminthes (iii) Phasmids
(d) Chordata (iv) Cnidocytes

(v) Malpighian tubules
(vi) Post anal tail

gef & AHga gul-1 & aeaaeiiged ge-1l @ 3w HE U1 T8 I bl 9ud B

-1 -1l
(a) Ol (i) STl SifyTeRTd
(b) Rl (ii) @ramy
(c) Fricfetds (iii) wIfeTsH
(d) s (iv) TSThITSTeRTd
(v) Aedr sfeed
(vi) UYTE U=

(A) (@) (i), (i) (b) (i): () (v); (d) (Vi)
(B) () (iii); (b) (), (iv): (c) (iD); (d) (V)
(€) (a) (i) (b) (i); () (ib); (d) (vi)

(D) (@) (@), (i) (b) (iv): (c) (iii); (d) (vi)

56 Which enzyme does not digest proteins present in food ?
(A) Trypsin (B) Chymotrypsin
(C) Pepsin (D) Lipase
B G TEH |5 U IURYd W & 9Tae Jel didr ¢
(A) feftas (B) @A
(C) ufe (D) wIETE
57  Which of the following is not the matching set ?
(A) Spleen - Billroth chords
(B) Sinu Atral Node - Pacemaker
(C) Tricuspid valve - Mitral valve
(D) Thebesian valve - In right atrium of human heart
Prefefaa & & @ gifer T ¥ 7
(A) e — faey =y
(B) Rl enfere wie - wfafraie
(C) Pt surz - figd @uE
(D) &afEs & - AMY B & T enfs o
LAI-48] €& I el [ PT.O.
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: ~ : ed by human placenta ?
Which of the following is correct in relation with hormones releas . g

(A) Estrogen and Androgen
(B) Placental Gonadotropin, Estrogen and Androgen

(C) HCG, HPL, Progesterone and Estrogen

(D) HCG, Progesterone and Androgen

qHE S T Prepiiid B % wae ¥ froa § @ g 7
(A) TRISH Td TUgie

(B) w@=d MEIZRH, T Ud YugeH

(C) uwadsh., tg.d.ud., Weedd Td TRl

(D) TS, WNRT Td T

At the time of conduction of nerve impulse, the repolarization occurs with the -
(A) Influx of K* ions (B) Efflux of Na* ions iy
(C) Efflux of K* ions (D) Efflux of both Na't and K™ 1ons

df STET & Yuvr % gwg g gaur @ fear F whm -
(A) Kt omadl &1 araddre (B) Na* amaet &1 afevare
(C) K* smaHl &1 sfedars (D) Na* wd K* &t &1 dfeddre

Select the statement for human brain which is not correct :

(A) Mid-brain has two optic lobes.
(B) Corpus callosum connects two cerebral hemispheres.

(C) Hypothalamus has hunger centre.
(D) Medulla oblongata controls involuntary activities.

Mg qiass & U wae & gae e, S oge T8 R o
(A) @ qidws § T g qiedl SuRed

(B) ¥H HWEH 3 WHRASh TeRG! Bl Sedr & |
(C) FRUEwHE ¥ 9@ & &= & & |

(D) el A=Al sitess fwansit & fEsr &ar &

The discrimination in the sound of varying intensities is done by which part of human ear ?

(A) Sacculus (B) Utriculus
(C) Basilar membrane R (D) Ressiner's membrane

fafy=1 e &t et &1 fasidiga &9 & feg s @ fear s 7

(A) dFa™ | (B) Fipad
(C) el &l (D) IRET & we

Which of the following statements is not correct for a stri i 5 9
&) No-shaum o oo triated muscle when it contracts
(B) No change in the length of myosin band.

(C) A band retains its length.

(D) Sarcomere becomes shorter.

e 3t % oo, o a5 st A b, Pt wut 4 -
(A) 1 ot & B afadt T | T N it ¢
(B) AR wgdt 1w § wid wRa Y e |

(C) A &l @ o T & -

(D) HTHIFET BT & War § |

1-48 :
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63 Androgens are secreted by -

(A) Sertoli cells ' (B) Leydig cells

(C) Tunica propria (D) Spermatogonial cells

TS BT AT HIA & —

(A) @elelt Hiferennd (B) afem @iy

(C) Zgfya wiftran (D) SIHTEHE IR
64 Bacterial diseases in man are -

(A) Typhoid, plague, malaria (B) Typhoid, plague, typhus

(C) Diphtheria, pneumonia, influenza (D) Plague, malaria, typhoid

o # Sandg W E -

(A) TEHIES, T, T (B) <TEHIES, W, TEHE

(C) fewehfcan, =gt TrwqdsT (D) I, A@MEl, Z3hiEs
65 Select the correct set of homologous organs -

(A) Forelimb of man, wings of birds and flippers of whale

(B) Forelimb of man, wings of insects and wings of birds

(C) Forelimb of man, hind legs of horse, wings of birds

(D) Forelimb of man, tail of horse, wings of bat

HTT S & GEl U B g B —

(A) AMd & STUE, U & U9 TUT *d &b HE9E

(B) WMY &% 3R, < & U@ U7 U & U@

(C) WFa % omaE, 2% % YvEuE, uel & uw

(D) WFa % SUUE, 9 A g, 9NIEE & ud
66 Connecting link between phylum Annelida and Mollusca is -

(A) Peripatus (B) Neopilina

(C) Chiton : (D) Nautilus

¥ Tt Ud Hiwwh B Ad wel § -

(A) Ufidem (B)  Frenfucg=r

(C) @geT (D) e
67 Munga silk is obtained from which insect ?

(A) Philosamia ricini (B) Antheraea assama

(C) Antheraea paphia (D) Bombyx mori

wr oo fopg @ & ura e & 7

(A) fecrrarfar ST (B) o=r srarr

(C) =T dftear (D) gifgeg aRTE
LA1-48] €& . 13 [ P.T.O.
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08 Who coined the term totipoter ¢y ?

(A) Morgan (B) Schwann
(C) Darwin (D) Haberlandt
QUiSTaRTAT 91 Rpee wfamfea foar 7 .
(A) #Arfa (B) ear
(C) =i (D) FaTevs
69  Tap roots are commonly found in -
(A) Angiosperm (B) Gymnosperm
(C) Monocots (D) Dicots
QRO JHaT o U18 W & -
(A)  STgadrsi (B) SFTgadrs
(C) uwmdETYs (D) fadisrasn
70 Storage product of Rhodophyceae is -
(A) Starch ' (B) Glycogen
(C) Floridean starch (D) Cellulose
VEHEH &7 Hiad waE & -
(A) wid (B) Tegdier
(C) wiftfeas wrd (D) Hegara
71  Palmella stage is present in -
(A) Chlamydomonas 4 (B) Spirogyra
(C) Aspergillus (D) Riccia
Ul STt U Wy ¥ -
(A) wEESHEN (B) w@mEdrmE
(C) uwafaad » (D) ffergan
72 Edible part of apple and pear is -
(A) Thalamus (B) Epicarp
(C) Mesocarp (D) Endocarp
9 9 IO B @H Grg 9 R -
(A) gwmEA AB) «TEI%wRT
(C) weEArHR (D) &=d: By

73 First "Earth Summit" for "Convention on Biological Diversity" was held at -
(A)  Johannesburg (2002), S. Africa (B) Rio de Janeiro (1992), Brazil
(C) Dehradun (1992), India (D) New York (2000)‘ USA
“Sfere fafaaanet 9 g9@” ¥ waw ‘ard | T a1 -

(A) SETEE (2002), . ST (B) TEifsmta (1992), gt
(C) <& (1992). 9 (D) = (2000), 778,10,

LAI-48] €& 14 Bio.
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74  Alcohol is produced during the process of -

(A) Ascent of sap (B) Photosynthesis

(C) Aerobic respiration (D) Anaerobic respiration
ufshar e twpreta @1 fmfor dar & -

(A) TETOE (B) Wahl9T HyewoT

(C) Tgda™g 99+ (D) Sraar g9+

75 Canada Balsam, a mounting agent used to make permanent slides is obtained from the
species of -
(A) Abies : (B) Cedrus
(C) Pinus (D) Juniperus
HATST AAEH, Uh HISET Usie, @Y @l WEeq & e wan fear smar ¥, 98 uw Sd |
W B E -

(A) TE" (B) digg
(©) T (D) graTE
76  Stolon is a -
(A) Stem (B) Root
(C) Underground stem _ (D) Sub aerial modified stem
T B § — |
(A) @™ (B) W
(C) Hfma @™ (D) SUA™ET WUAT &
77  What is a Rosie ?
(A) A transgenic goat (B) - A transgenic cow
(C) A transgenic sheep _ (D) A transgenic flower
RIS '
(A) T ZiEsitis TBd (B) TH ZiEditd T
(C) UH Zigeilis #e (D) TH ZiEsitiE gu
78 The edible part of litchi is -
(A) Mesocarp ~ (B) Thalamus
(C) Seed coat (D) Aril
Wl & @H ar HE § -
(A) TG (B) gwarEd
(C) diwEd (D) Ui

79  Minimum number of meiotic divisions required to obtain 100 pollen grains of wheat -

AE H 100 T FHO1 GG A ¥ e geraw ol geh fwrer @ onmavadwar ey ?

(A) 25 B) 50
(€) 100 (D) 150
LA1-48 | €& 15 [P.T.O.
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80  Red rust of tea is caused by -

(A) Green Algae (B) Red Algae
(C)  Fungi (D) Brown Algae
1 o T ez O fhed & ek # 7

(A) & g (B) el grared
(C) e (D) 4t et

81  The fruit of Sorghum is known as -

(A) Cypsela (B) Caryopsis
(C) Achene (D) Legume
T % B B BEA & -
(A) fyeen (B) a&faitad
(©) uHH (D) g

82 The term biocoenosis was coined by -
(A) Tansley A (B) Carl Mobius
(C) Warming (D) R. Mishra
I ST fRe wfarfed fean j
(A) TE (B) e Hifqay
(C) | (D) @&, fsn

83  Gibberellin was isolated from -

(A) Algae : i (B) Fungus
(C) Bacteria ‘ (D) Bryophyte
Sred e @l gues fpar mar -
(A) &t & | (B) @®a% q
(C) iramy & (D) sTEwEE &
84  The instrument used to measure diameter of a tree trunk is called as -
(A) Alburnum (B) Duramen
(C) Tyloses (D) Dendrogram
- SuH e g 9B & A @ @y Wi o ¥, wed ¥ -
(A) TEHEB (B) SI<T:%r
(C) zEefE (D) Tgmm
LAI48] & o | [PTO.
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85

86

87

88

Correct representation of Boyle's law is -

99 & Fram o g freger & -
|
£ P ®) p1
N=3 V=
€ PT \ TR e
V- Vo

Which is not correct statement in terms of kinetic theory of gases ?
(A) Gases are made up of small particles called molecules.

(B) The molecules are in random motion.

(C)  When molecules collide, they lose energy.

(D) When the gas is heated, the molecules move faster.

fhﬁ%v%amf%m%ﬂzﬁﬁmﬁﬁaﬁqmmm@ﬁ%?
(A) T8 g & ¥ Prewt s R o wed &

(B) ema af nia wghes o &

(C) 3T & A THHBT oW UL el B BT AR T

(D) = & T BE G ARt B T 96 W T

Unit of surface tension :

9B GG @l 3R & -

{A) dynes cm™ (B) ergs/cm
(C) Jml (D) N m!

The internal resistance to flow in liquid is called -

(A) Fluidity (B) Specific resistance
(C) Viscosity (D) Surface tension
79 % WaE % Hidis Wy B Hed & -

(A) Faar (B) fafire wiwy

«C) sa™an (D) T% T

LA1-48] & 17 [P.TO.
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90

91

92

LAI-48] & I8 | [ P.T.0.

Rain drops are spherical in shape because of -

(A)  Surface tensi Capillary action |

(©) Downwat:;:i?ﬁOn Eg)) Aclc):eleration due to gravitational force
Ul H Y R el B e ¥, gEw HE -

(A) Y= g9 (B) Ty

(€) A & et T (D) TG W & HTCT T A @

: . : i ith edge length
At room temperature, sodium crystallizes in a body centered cubic lattice with edg g

a=424 A. The theoretical density of sodium (At. wt. of Na = 23) 18~
FY & A I QRGN g Hhad TG TwE A feediga e | o feETt @1 e
a=424 A ¥ AT (Na &1 g0 9% = 23) & dgifas B9 & -

(A) 1.002 g cm™3 (B) 2.002 g cm™
(C) 3.002 g cm3 (D) 4.002 g cm?

Which type of 'defect’ has the presence of cations in the interstitial sites ?
(A) Frenkel defect (B) Metal deficiency defect
(C) Schottky defect (D) Vacancy defect
fre e @1 fe o eiavanstl WM § gAEe A SuRdfd el g 7

(A) ¥wa Aw (B) &g =g Ffe/<

AC) gzt FR[AW (D) fferram Ffe/@Em

Coordination number of sodium ion in sodium chloride crystal is -
Hifean FREs fred § Afsad e & aeEy gl § -

(A)y 3 B) 4

(C) 6 (D) 8

Which of the following conditions is not correct for ideal solution ?
(A) No change in volume on mixing.

(B) No change in enthalpy on mixing.

(C) It obeys Raoult's law.

(D) lonisation of solute should occurs to a small extent.

fpem & & @ A Rafa smast faeae & o wd 7€ ® 7
(A) Tafyd &0 UT AEAT § HIg qiadd TEl g
(B) fafyd &e o TR # @ig AR T e
(C) TE TSE & T &1 e & ¥

(D) e @ G HH EE AR |

- R —
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94 The mole fraction of NaCl in a solution containing 1 mole of NaCl in 1000 g of water is -

| 7 NaCl % 1000 g 5wt gaa fawae § NaCl & =i fisy & -
(A) 0.0177 (B) 0.001
& 0.5 (D) 0.244

95 According to Raoult's law the relative lowering of vapour pressure for a solution is equal

to -

(A) Moles of solute (B) Mole fraction of solvent
(C) Moles of solvent (D) Mole fraction of solute
WR%W@W%Wﬁmﬁ%@WWW%~
(A) Toda & 4w ¥ (B) fqomas & A it &

(C) faamas & 9ia ¥ (D) faog & 9 fy=1 &

96 How many grams of NaOH will be needed to prepare 250 ml. of 0.1 M solution ?

230 ml 0.1 M fqwae &7 & 1T NaOH % Rpasy wm & ommasadar 2 7

(A) 1g ‘ B) 10g
) 4¢ (D), 6 g
: 3 A

97  Addition reaction of hypochlorous acid with propyne gives the product -
(A) 2. 2-Dichloropropanal A5 1-Dicl1loropropanone
(C) 1-Chloropropanone (D) 1-Chloropropanal
mﬁmmammﬁmaﬁmémﬁwm%—
(A) 2, 2-STEEIIaNd - (B) 1, -SRI
(C)  1-FAARAI (D) 1

98  Arrange the following compounds in decreasing order of acidic strength -

A fag T e B ST T g onda el % w ¥ e Hf

OH OH OH
NO, CH,
(I (1) (111)
(A) M >10>1 (B) I>1>1I
(C) I>1>1 (D) M>1>11
LAL-48 | €& 19 [ PT.O.

Scanned with CamScanner



99

100

(D) arfigea & & ¥ |
101 Identify the lowest molecular weight alkane containing a quarternary carbon -
(A). 2, 2-dimethy1propane (B) 2, 3-dimethylbutane
(C) 2-methylbutane (D) propane
frfefgd & & 998 9 AYER G T Bl @ e 06 ages seA @ 7
(A) 2, 2-=EAfdwAI (B) 2, 3-smEAfiEege
(C) 2-Afuweges (D) A '
102 Reason for less reactivity of benzene than ethene and ethyne towards addition reaction is -
(A) presence of 3 mbonds (B) cyclic nature
(&) sp? hybridization of C atoms (D) delocaliiation of c;
e atifrane & uf ChE o guree B e ¥ Al ) @ Rearsieer @ srord -
(A) 3n "di @ sufafd (B) =@ wgfy
(C) wIeA SIS 1 sp” AL (D) 3o @1 fererrieor
LAl-48] & ¥ ~ [PTO.

(B) W& §&UV § SOE Wl g 8 |

' . tructures of
Which of the following statements is NOT CORRECT regarding resonance S 0
molecules ?

(A) They have identical arrangement of atoms.

(B) They have nearly the same energy.

(C) They have same no. of electrons.

(D) They have identical bonding. e
ﬁwﬁr&gwuﬁwmaﬁﬁwmmaﬁmzwmmam@@% {
(A) T aeif @ adwr g9 il @ |

(B) & @i & Huil T g9H B 8 |

(C) T TR @ G g9 B |

(D) I |9 SEYT B ¥ |

Staggered conformation of ethane is -

(A) equally stable as eclipsed conformation.

(B) more stable than eclipsed conformation.

(C) less stable than eclipsed conformation.

(D) impossible to exist.

W ¥ daRa e % R ¥ wé wa g - |
(A) T T GEU9 & FUET W B E |

(C) T 9899 ¥ &9 Wil & ¥ |
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103 The correct order of atomic size of C,N, P, S follows the order -

WCNPS%WWWWW‘Q‘*-
Al N<C<8§g<p

(C() C<N<s<p

(B) N<C<P<S§
(_D) C<N<P<S

104 In the modern periodic table, the period indicates the value of -
(A) atomic number _(B)... atomic mass o
(C)  principal quantum number (D) " azimuthal quantum number

YR smadt arolt § amad Prefufed ¥ ¥ Prew T @ E 7

(A) 9T e ®B) T FEEE
(C) Y= w@ieq d&n (D) fist Faien e

105 The element that has highest electron gain enthalpy is -
TS FAA W T qren aew § -
(A) F ‘ (By Cl
© ©O (D) N

106 The electronegativities of the following elements :
H, O, F, S and Cl increase in the order

= Tl H, O, FSWCI%WWWWWW%M

(C) H<S<O<CI<F M "H<S<Cl<O<F=

,t.

..-uJ

(A) H<O<F<S§<Cl " (B). c1<H<o<F<s_-,.

reEal,

107 The percentage of m character in the orbitals forming P-P bonds in 1’4 is -

P, # P-P st gT0 fAfia &l & n~Tw B R ® -
(A) 25 _ (B~ 33
(C) 50 (D) | 75

108 The interhalogen compound that has a dimeric structure is -

siqceeT A o e da ¥ o o &, @ ¥ -

(A) CIF, (B)-.. ICl5
(C) BrF, B,
LAl-48] & o

R TR

LI AT

e
r B r

[ P.T.O.
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t09  Which pump is important in biological reaction in human body

(A) Ca-Mg pump (B) K-Fe pump
(C) Na-K pump (D) Fe-Ca pump
EIEC) arﬁTft e fpar ¥g @F-a1 4g AEEq & 7

(A) Ca-Mg 94 (B) K-Fe

(C) Na-K Uq (D) Fe-Ca IW

110 The vapour density of completely dissociated NH,CI is -
(A) double than that of NH,CI
(B) half than that of NH,CI
(C) same as that of NH,Cl
(D) determined by the amount of solid NH,CI taken

qofa: fdifrd NH,Cl &7 a9 |9 81T —

(A) NH,Cl @& AT

(B) NH,Cl @1 3en

(C) NH,Cl & g9

(D) faw o B NH,Cl @ aen @ faifa e

111 Acidity of BF; can be explained on the basis of which of the following concepts ?
(A} Arrhenius concept e 1 i
(3) Lewis concept
(C) Bronsted-Lowry concept
(D) Bronsted-Lowry as well as Lewis concept

Brmaqﬁlwﬁwﬁ%ﬁmm@masmwmmm% £,

(A) SATTeHad FTEReT T

(B) W2d HIERI 9T

(C) FES-A HGHTOM T

(D) qgaama?@g-afﬁwumna‘m‘f%ﬁwm

112 When some acid is added to water, the ionic product of water -
(A) changes with an increase in pH. Y
(B) changes with a decrease in pH.
(C) remains unchanged.
(D) becomes zero.

S § et B g AT TG A 9T S & S e -
(A) pH ¥ gfg & @ uftafda @ &)
(B) Ht‘tzﬁr%muqﬁﬂﬁhs‘lmtl

mﬁqﬁaﬁﬁaﬁl
(D) g A E
(A48 € v

ES— ‘--swav;“,-r
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114

115

116

117

One litre of a buffer so

lution containing 0.01 M NH,CI and 0.1M NH,OH having pKj of
5 has pH of -
T T AT Ry F .01 v NH,Clam 0.1M NH,OH ¥ | 5a% frg pK, &7 7 5 &
38D pH Bhfy -
(A) 9 (B) 10
©) 4 D) 6

If pH of solution is 5.2, then its POH will be -

uﬁ:%ahﬁmmasrpH 52 % @ g@a pOH 2rr -
(A) 4.8 (B) 5.8

€) 68 (D) 8.8

Which of the following solution acts as a buffer ?
ﬁwﬁféﬁ?—mﬁaﬂaw%mﬁfmm%?

(A) HCI + Nac] (B) NaOH + HC]

(©) CH,COOH + CH;COONa (D) HCOOH + HCOONH4

The total pressure of 3 mixture of two gases is -

(A) The sum of partial pressure of each gas

(B) The difference in partial pressure of both the gases
(C) The product of partial pressure of both the gases -
(D) The ratio of partial pressure of both the gases

et <t At % Fraw 1 e w3 -
(A) Y% T & il a9 @ an
(B) =Hl 6 & iyt a9 @ ot
(C) aﬁrﬁa‘ra‘saﬂfwmww
(D) 2T 7Y & arifyrw a9 & e

In ideal gas equation PV = nRT, which one cannot be the nu
(A) 8.314 x 107 erg mol-! K-!

(B) 8.314 Jmol-! K-!

(C) 8.314 Pa m3 mol! K-!

(D) 8.314 atm mol-! K-!
anasfﬂaaswwPv=nRTﬁ,ﬁwﬁﬁﬁamRmnﬁlﬁuwﬁﬂ€fs’rm?
(A) 8314 x 107 et "\ K- :

(B) 8314 5@ Hia! K-! .
AC) 8314 urebe Weld Hiw! K1

(D) 8.314 argAvsd Wi\ K-!

merical value of R 9

' PTO.
LAI-48] & 23 ' THEQ
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13 A charge ¢ is enclosed in a cube. The electric flux associated with one of the faces of cube
1S -

Uh HAEY ¢ T o4 F IREE § | TEh U Ged Y [EE AT dga o el § -

2 B 5
(A) & (B) 6¢€,

S¢ S
© &, (D) p

119 Three charges +4 ¢, Q and ¢ are placed on a straight line of length ¢ at points at distances

O,g and ¢ respectively. What should be Q in order to make the net force on ¢ to be zero ?

M e +4 g, Q R ¢ UH ¢ warg @ drel Y@ ww HEn o,gaﬂw ¢ gl ut fga
Q @1 AT T EFAT WA 6 ¢ W & aren gRoml g6 g & Wi 7
() g B) -24

© —% (D) 4gq
g v

« £

120 A charged oil drop is suspended»in uniform field of 3 x 10* ¥ m~! so that it neither falls nor-
rises. The charge on the drop (take mass of the drop 9.9 x 10-15 kg and g ~ 10 ms™2) is :

U SERE o B T 3% 104 V! & quE 8 K wedt g %, 9 A A9 AR B,
ﬁweﬁr%|éaﬁr§awam‘rsr%(?ﬁmmm9.9x10—15kgagg10ms~2):
(A) 33x10-18C RN 2 T o |

(C) 1.6x10718C ' (D) 48x10-18¢C

121 The effective resistance between points 4 and B in given circuit is —

R Ty ofvwe & Rig 4 B % dra g whde & -

(A) 50 B) 10Q
(©) 40Q D) 50Q
LAI-48] €& 24 [ P.T.O.
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122 A potentiometer wire is supplied a constant voltage of 3 V. A cell of emf 1.08 Vis

ter wire
by the voltage drop across 216 cm of the wire. The total length of the potentiome
is -

(A) 200 cm (B) 400 cm

(C) 600 cm (D) 800 cm &
% fawemdt aw # s gaq dees 3V @ s &1 1.08 ¥ faara. arer
216 & @Y wd o fraiat & dqfe B ¥ 1 R @) A o warg g -

(A) 200 I (B) 400 g4

(C) 600 I (D) 800 T

123 Can we use copper wire as a potentiometer wire ? Choose the correct optlon
(A) No, because its resistivity is very high.
(B) Yes, because it has small resistivity.
(C) No, because it has small resistivity and also its temperature coefficient of resistance is
very large.
(D) Yes, because it has very large temperature coefficient of resistance.
Wﬁﬁﬁ%mwmﬂw(potentlometer)maiwﬁm'ﬂﬂﬁ% ? gl fasbed
gl
(A) =&, i o werdesa agq afus e & 1
(B) &, it swe wRrdermar &9 o &
() a?r mmmmmﬁ%@mmmwmm%l

(D) &, % 8% TRRY & a9is agq s e & |

124 Potentiometer measures the potential difference more accurately than a voltmeter, because :

(A) It has a wire of low resistance.

(B) It has a wire of high resistance. 5
(C) It draws a heavy current from external circuit.
(D) It does not draw current from external circuit.

Wmﬁwﬁmmmém%m
(A) TH&I AT &9 Ufrde &1 ¥ |

(B) 9@ aX I WOy &1 ¥ |

(C) 9% 9 iUy § ST 9Ny ol & |

(D) TE aEd ufty ¥ o T o ¥

125 In Young's double slit experiment, the monochromatic source of yellow light is replaced by
that of a red one light then fringe width will

(A) increase (B) decrease
(C) remain unchanged (D) disappear

an & fg-fere wam & afe it g & THA S H O a wensr an

RECRECIBE 1y
ar fibsr I -

(A) 9% WA (B) e WRAf
(C) emfrafda @i (D) Ws‘raﬁvm
LAI-48] €& 25 ' ~ [PTO.
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127

128

129

130

131

Adjuplates.

: A creen is 1 m frop
In a Young's double slit experiment the slit separation is 1 mm and the scree m

: L o rd minima fr
the slit. For a monochromatic light of wavelength 500 nm, the distance of 3" mi m
the central maxima is -

m%‘;@ﬁ:’%ﬁ(doub]cslit)mffwaiq?H@ I 111maﬁ1qéa%%ﬁ?ﬁ;:ﬁ
Im% | Th 50011111W%w¢wﬁW3T$WWWﬁHWGia% i_& 2~

(A) 0.50 mm (B) 1.25 mm

(C) 1.50 mm (D) 1.75 mm

Brewster's law is -

=T &l frem ¥ -

(A) ip =90° (B) M=tan ip
©) ip —r=tan (D) ip =tan

(where U= refractive index and i p = polarising angle)

el

(&l 1= sT9acHie qur i, = gau )

In Fraunhofer diffraction at single slit, if slit width is decreased, the adjacent minima will -
(A) come closer (B) move apart

(C) remain at the initial positions (D) come closer initially and then méve apart
T fog BHEe faads § afy fisg o e wer & W, @ Pt -
(A) U9 RN (B) T &M

(C) ot fafa o feon @& (D) W& U A fBY g &M

The longest wavelength in Balmer series of hydrogen spectrum will be -

TR WA ¥ IFK A0 @l aifumaw or 2t ent —

(A) 6557 4 B) 1216 A

(C) 4800 A (D) 5600 A

When hydrogen atom is in its first excited state, its radius compared to that of ground state
is -

(A) same (B) half

(C) twice (D) four times '

mg@mmqwﬁhﬂmﬁ@m%,ﬁmm%wﬁﬁwmﬁw
g -

(A) TTET (B) ameh

(C) Fm (D) = om

The energy required by a hydrogen atom in ground state, to move to its first excited state
is -

m@aﬂmﬁa{ﬁﬁfﬂmmﬁqﬁﬁaﬁﬁamﬁmﬁ%ﬁmmswm

(A). 13.6 eV (B) 34eV
(C) 102 eV D) 122 eV
LAI-48] €& 26 [PT.O.
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2 The binding energy per nucleon for a deuterium nucleus is 1.115 MeV. Mass defect for this
nucleus is about -

;{ﬁﬁﬂﬂﬁmﬂ%?ﬂ?mgﬁfqﬁmﬁ 1.115 MeV & | 38 ifYes & fad geamma afi

@ A BT -
Eg 3.33711 (B) 0.0024 «
027 u

(D) 0.0012 u

33 The clectron emitted in beta radiation originates from -

(A) inner orbits of atoms, (B) free electrons existing in nuclel.

(C) decay of a neutron in a nuclei. (D) photon escaping from the nucleus.
dter WA § ez T B & -
(A) T & i way | (B) fies ¥ fererme g 3aag H |
() T ¥ =W & ag § | (D) % q Frepa @@ wiee @ |
1
134 When gLi is bombarded with a certain particle, two alpha particle are produced.

The bombarding particle is -
(A) mneutron

(B) proton
(C) alpha particle

(D) deuteron
) s {Li @ R o1 & cwt & i ¥ A, @ orewn B S B E, 2w a9 39 -

(A) == (B) W
(C) I=HT B (D) =gz

135 In the half wave rectifier circuit operating from 50 Hz main frequency, the fundamental

frequency in the ripple would be -

% o qUT feewl 50 Hz & angfr ux & &¢ e ¥, 39% fouw @ 5w amafa e -
(A) 25 Hz (B) 70.7 Hz
(C) 100 Hz (D) 50 Hz

136 At absolute zero temperature, intrinsic germanium and intrinsic silicon are -
(A) Ideal Conductor (B) Good Semiconductor

(C) Ideal Insulator (D)v Conductors
9T o A 9T E SO ot g R ¥
(A) omest ae® {B) a9 ardeTe®
(C) amest sraa® (D) dEH
137 The logic gate represented in the following figure is -
e gu fam # wfore e agfar ¥ -
A
Y
B .
(A) OR Gate (2) (B) NOT Gate (2)
{C) NAND Gate (2) (D) XOR Gate (2)

| PT.O.
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Seajupdate8.an " B
| uter edges far away from the hinges :
it easily.

t easily.

138 The doors are provided with handles near the 0
(A) to exert’ maximum torque on the ;l:;)r tto cc))gee:i
B) to exert minimum torque on the door to . :
Eci because .jrsr(l)sition of ha?ldle does not matter and is convemf:nt to
(D) because while opening the door fingers are not hurt by hinges. o
mﬁﬁ%ﬁ--mﬁ%mﬁﬁmﬂmtﬁﬁmwwmm
(A) meﬁm’ramﬁﬁ@aﬁésmmwmmﬁ% |
(B) mﬁ?ﬂmé@aﬁ%ﬁ'ﬁwwmwﬁ@ﬁﬁl -
(€) wiifs Yew @ Rafy ¥ &% &b T gEar ¥ | qredy fpara 9X Eew @ SATET
| SRR ‘ .
(D) i T G g s WX et % o A 7 g |
o and m,. If the first particle
hat distance should the

fix at the outer edge.

139 Consider a two particle system with pamticles having masses 7,
is pushed towards the centre of mass through a distance 4, by what d ?
second particle be moved, to keep the centre of mass at the same position :

2 i 3 PRI B SaHTO BTG RV T BT B A my G AL H my & | A T
BT B THAR-H R A o T R g A q@y F A et g A fawwr w=m
ﬁmﬁﬁmmmﬁm%ﬁmﬁaﬁaﬁ 7

(A) d . &8 my
% oy .
©) ml+',n2;.d;. __,_(D) P

140 A circular disc of radius 0.5 m and mass 25 kg is rotating about its own axis with a speed
of 120 revolution/min. The moment of inertia of the disc is -
(A) 1.550 kg m? (B) 3.125 kg m?
(C) 4.125 kg m? " (D) 6.250 kg m2
TH JAER gt e Ber 0.5 /e g gewE 25 e ¥ e g ux 120 gt /fee
@1 TR ¥ YOI &I & | Tl b1 A Aol &R -
(A) 1550 P 2 L« (B) -3.125 fmum M2
(C) 4.125 fFm A2 L2 (D) 6.250 fem w2

141 Two samples 4 and B of a certain gas, which are initially at the same temperature and

pressure, are compressed from volume V to % A is compressed isothermally, while B is

compressed adiabatically. The final pressure of 4 is -
(A) more than that of B (B) equal to that of B
(C) less than that of B (D) twice that of B

et 7 % 2 A AT Bure § UH B aveed @ aw w ¥ | 9% qiia B ST smae
SRS LRV LR R PR R R Sy Sy
Eﬁf\'ﬂﬁmm%* e

~

(A) BH ftwe _’.(B) B % €UET
(C) B® m: | (D) B @& g
LAI-48] & s [P.T.O.
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Seajupdate 8 i

When 20 J of work is done on a gas, 40 J of heat energy is released. If the initial internal
energy of the gas was 70 J, what is the final internal energy ?

g fepdt | qx 20 J @ foRar s ¥, 40 J won st sahia B ¥ 1Al g @ ardhhs
H=I® Hat 70 J 6, @ gt oifim e el & —

(A) -150J (B) 50J

(C) 90J (D) 110

An ideal heat engine operates in a Carnot cycle between 227°C and 127°C. It absorbs 10%
Joule of heat at higher temperature. The amount of heat converted to work is -

(A) 2000 J (B) 4000 J
(C) 8000 J (D) 5600 J

Th AR H 9 A @ete wHd 227°C 3l 127°C % &g Froqfed €ar ¥ | 959 a9 0t
g% 10* S SO Sraifii & & | ST @ " o e ¥ ufatda entr —

(A) 2000 S[& (B) 4000 S[e

(C) 8000 w& (D) 5600 S[e

The efficiencies of all reversible heat engines working between the same temperature -
(A) are same. (B) depend on fuel used.

(C) depend on pressure. (D) depend on volume.

A EAE A9 F W FE B a0 G I FOT I B e

(A) FUET & &) © (B) wgE 3u WX frfr s ¥

(€©) =@ X feT e ¥ (D) @mga T R sl ¥

[n simple harmonic motion, at which value of displacement, kinetic energy is equal to
potential energy (a is the amplitude) ?

e ot e 3 R Rt e o st e R S T A # (o o 8) 7

(a) x=t ®) x=t=

Il
H+

5 [
&ls

C€) =* My xwia

146 A child is sitting on a swing. Its minimum and maximum heights from the ‘.ground are

0.75 m and 2 m respectively. Its maximum speed will be -

(A) 10 m/s B) 5 mils

(C) 8 mis (D) 15 mis

T qod YA T YA T & | Igh vl § P 9 orftrem S mwan 075 dex g
2 feX & | SHa&! eifddman e enll -

A) 10 9LA. B) 5HA.
(C) 8 HLA. (D) 15 ¥/,
LAI-48) & % | [(PTO,

s m——
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Collar
A'S kg collar is attached to a spring of force constant 500 Nm~!. It slides wnhout.f.rlcflon
on a horizontal rod as shown in the figure. The collar is displaced from its equilibrium
position by 10.0 cm and released. The period of oscillation of the collar 1s -

5 kg

77
W 7

Collar

HTrrtiner

- U% 5 [T & T (collar) Us Tt Rigenr o fradis 500 Nm-! &, & Sive1 791 & | 98 %

148

149

150

LAI-

Taae SRS waw wt R afur % iy e &, Svan R A qatar war & 1w @ wdfed sraen
H 10.0 WY feranf & e W ¥ | @ S B ®

(A) 628 s (B) 62.8 s

(€) 0.0628 s (D) 0.628 s

T'he right relatignship between the square of speed of sound (v?) and absolute temperature
(7) of any gas in gaseous medium -

T e ¥ Aty @ aw % @t () qun e B TR (7) % qer wd we et -

@A) 12 \ ®) 12 |
L Rl |

T T
(C) +2 K ' (D) 2
5 T

Velocity of source of sound, when to a stationa
ou y ry observer the frequency appears ‘
double the original frequency (velocity of sound = 330 ms™') is - : 44 orhe

Qﬁwﬁaﬁam&qm@ﬂmﬁwzﬁrwﬁfﬁwz&q :
330 ms~!) ¥ — T wEqE #, (saft @ A -
(AY; 339, tpsr” (B) 165 ms!

In two identical tubes 4 and B, tube A4 has both ends o i
: ) pen, while tube B has . se
The ratio of fundamental frequency of tubes 4 and B is (4 : B) - R close

o THGAM Al A9 B, T A % G R g ¥ T o 8w us R @ '
b o S b qT ¥ | At A

(A) 1:2 " B) 1:4
Y B D) 4:1
48 | E | | 30 [ PT.O.
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